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This question paper consists of THREE (3) questions. Answer ALL questions in the answer
booklet provided. [100 MARKS]

QUESTION 1 (50 marks)

XYZ Ltd. has a shori-run production function of Q = %L"'ZS, where L indicates labour quantity and
labour cost is RM3 per unit. The price of its output is RM48.

a) Derive the short-run profit function of XYZ Ltd. {8 marks)
b) Find the quantity of labour that maximizes profit. (12 marks)
¢) Compute the amount of maximum profit earned. (8 marks)

d) Is there a quaniity of labour that can maximizes revenue? If yes, compute the revenue-
maximizing quantity. If no, explain why. {7 marks)

e) In the long-run, the production function becomes @ = §L°-25K 075 where K indicates quantity of

capital and the unit cost of capital is RM4 per unit. Find the optimal quantity of labour in terms
of quantity of capital that maximizes profit. (15 marks)

QUESTION 2 (35 marks)

FRM Pid. Ltd. is a monopoly supplying dry batteries to two group of customers, i.e., corporate and
individual. The inverse demand curve for corporate is P,, = 20 — 0.25Q,,, while the inverse demand
curve for individual is P,y = 25 — 0.250Q;,,4.

a) Assuming the marginal cost to sell to both group of customers is identical at RM5.50, determine
the opiimal quantity and price of output to be sold to each group of customers in order to
maximize profit. (10 marks)

b) Based on the answer of part (i) above, determine the maximum profit that FRM Pid. Lid. can
earn. (8 marks)

c) Explain what the necessary conditions are that need to prevail in order for FRM Ptd. Lid. to sell
to the two group of customers at different prices. (7 marks)

d) Compute the optimal mark-up that maximizes profits for both group of customers, i.e., corporate
and individual.
(10 marks)
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QUESTION 3 (15 marks)

Figure 1 below shows that utility function of a risk-adverse individual, which takes on a concave
curve.
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Figure 1: Utility function of a risk-adverse individual

a) Using Figure 1, explain why the utility function of a risk-adverse individual is necessarily
concave. (15 marks)

** "END OF QUESTION PAPER ***
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